DRAWING No. :

Customer Information
| ©

IF IN DOUBT - ASK | | NOT TO SCALE | THIRD ANGLE PROJECTION | ALL DIMENSIONS IN mm

MB0-5000000MN - XX -XXX-00-000
PECIFI

ATl ,
MATERIAL:
MOULDING: GLASS FILLED PPS, UL94V-0, BLACK
COAX CONTACT:
BODY, SLEEVE, INNER CONTACT, END PLUG = COPPER ALLOY
LATCHING COLLAR = BERYLLIUM COPPER

M80-315/3+67/311
x No. OF CONTACTS

M80-318/319
x No. OF CONTACTS

COAX CRIMP CONTACTS ONLY
DIM C” <—10.30 MAX—= - '

DIM ‘B”
INSULATOR = PTFE N I - |
BOARD MOUNT JACKSCREW, SCREW = STAINLESS STEEL DIM "A |

FINISH: = =l | 7
4.00 TYP

COAX CONTACT:
A —
CONTACT ‘A —

BODY, SLEEVE, INNER CONTACT,
LATCHING COLLAR = NICKEL
ELECTRICAL:
WORK ING VOLTAGE = 800V AC/DC
VOLTAGE PROOF = 1200V AC/DC
INSULATION RESISTANCE = 100MQ) MIN |
COAX CONTACT: !
FREQUENCY RANGE = 6GHz |
|
|

END PLUG = GOLD

|
i T
|
[

|

|

| |

— (3.6) | |
|

IMPEDANCE = 5000
V.S.W.R = 1.05 + (0.04 x FREQUENCY) GHz MAX
CONTACT RESISTANCE = 6m() MAX

INSULATION RESISTANCE = I06MQ @250V AC

(13.4) —

OPERATING VOLTAGE = 180V AC @ 500mA 1
MAXIMUM VOLTAGE = 1000V AC e <— 2 x M2x0.4
MECHANICAL : i , SECTION 77 .
DURABILITY = 500 OPERATIONS | - 17,
COAX CONTACT: | ! ! q=¥=r
INSERTION FORCE = 8N MAX | 5.60 > L W20 4 |
WITHDRAWAL FORCE = 0.5N MIN MAX x M2x0. %
ENVIRONMENTAL : | ! | \ 8. 80 0 . 00
TEMPERATURE RANGE = -55°C TO +125°C £ MAX 1 ‘*i =1 *
PACK | NG + - - - - T — - e e
FOR COMPLETE SPECIFICATION SEE COMPONENT L | SSSSoS
SPECIFICATION COO5XX (LATEST ISSUE) ! 90° COAX STRIPPING
-E%---i- 10 00 '-00“’J LE— DIMENSIONS
0.50 MIN < DIM ‘B” .
M80-318/319 90° COAX CRIMP
OPTIONAL FOR 2.50 MAX TYP —= M80-318/319 1.00 —— 4.00
OTHERS Py
‘T—]r'-t::j‘ 4 ™ _
3.00 MIN @2.25 TYP
Hg0-318/319 ONLY o
PTIONAL FOR OTHER
OPTIONAL FOR OTHERS CRIMP/SOLDER NOTES: INNER CONTACT SLEEVE
| CONNECTORS ARE SUPPLIED WITH CONTACTS LOOSE .
N 4<\¥__ 2. ?ﬁéﬁLi$ggAcTNhEnggE%AE$ ﬁﬁDAL§+ZH?EGPég[EARBXBE' MAIN ORDER CODE: (COAX CRIMP CONTACTS) MeP | 3 J20.12.19] 21540
RI.50 MAX TYP PRE-ASSEMBLED AND SLEEVEAND INSULATED END PLUG ASSEMBLY M80-5000000MN-XX-XXX-00-000 xx&g' x; C/NoTE
ARE SEPARATE. :
RECOMMENDED PCB OR PANEL MOUNT LAYOUT 3. FOR EXTRA COAX CONTACTS, USE PART NUMBERS TOTAL Wo. OF CONTACTS CHECKED: 58
- EV.Domm M80-315/3+6/317/318/319. YT W
4. COAX CONTACT EXTRACTION TOOL = 780-290. SPECIAL CONTACTS ' '
DIMENS | ON CALCULATION 5. RECOMMENDED HAND CRIMP TOOL FOR INNER COAX CONTACT = 780-292 | 312 2 oM SACT 2 0omm R oo aie CUSTOMER REF.:
WITH POSITIONER Z80-29!. RECOMMENDED HAND CRIMP TOOL AND 317 = COAX CONTACT 2.70mm CRIMP M80-317
T, - - 318 = COAX CONTACT 2.00 HORI1Z* CRIMP M80-318
DIM "A 4 x No. OF CONTACTS - 4.00 6 ?&ETEEETﬁgﬁ §hEE¥§ ARE82V§?EABLE. 319 = COAX CONTACT 2.70mm HORIZ® CRIMP M8O-319 ASSEMBLY DRG:
DIM ‘B” 4 x No. OF CONTACTS + 5.00
DIM C 4 x No. OF CONTACTS + 10.0 a Wﬁﬁﬁﬁ&gﬁ%ﬁhﬁ '?“Rff“ MATERIAL: TITLE: DATAMATE MIX-TEK
. T T mm PC TAIL MA ASSY WITH
CXAMPLE 1 COMMECTOR W1TH 08 COAX CONTACTS EVANRIVVGIINE: o 0 e Ste sgote SOARD MOUNT <
: , GROUP AND MUST NOT BE X.XX = £0.20mm BOARD MOUNT J/SCREWS
M80-5000000MN-08-315-00-000 _ DISCLOSED LOANED. COPIED | X. XXX = 0. 01mm [Fones DRAWING NUMBER- SHT
DIM ‘A" = 28.00mm, DIM ‘B” = 37.00mm, DIM ‘C’ = 42 0mm Www. harwin.com OF TRubckiv ok ror o | ANGLES = +5° ' SEE_ABOVE ' y
technical@harwin. com e pumposEwrh U | uniess stateo | s/area: 2 | M80-5000000MN - XX-XXX-00-000 | or,



wpreston
Line

wpreston
Line

wpreston
Line


Customer Information
| ©

SheeF

DRAWING No.: MBO-5000000MN-XX-XXX-00-000 IF IN DOUBT - ASK | | NOT TO SCALE THIRD ANGLE PROJECTION | ALL DIMENSIONS IN mm
SPECIFICATIONS:
MATERIAL: M80-335/336/337 M80-338/339

MOULDING: GLASS FILLED PPS,
POWER CONTACT:
BODY, SLEEVE,
LATCHING COLLAR = BERYLLIUM COPPER

UL94V-0, BLACK

INNER CONTACT, END PLUG = COPPER ALLOY

POWER CRIMP & SOLDER CONTACTS ONLY

x No.

OF CONTACTS

x No. OF CONTACTS

INSULATOR = PTFE . — 1.85 MAX — 7.85 MAX
BOARD MOUNT JACKSCREW, SCREW: STAINLESS STEEL DIM “C
FINISH: o .
POWER CONTACT: DIM "B
BODY, SLEEVE, INNER CONTACT, END PLUG = GOLD — 4 50 DIM ‘A’ !
LATCHING COLLAR = NICKEL '
ELECTRICAL:
WORK ING VOLTAGE = 800V AC/DC ———— — \ |
VOLTAGE PROOF = 1200V AC/DC
INSULATION RESISTANCE = 100MC) MIN qs qp 5.55 ————JE e | —-—-%
POWER CONTACT: MAX
CONTACT RESISTANCE = 6mQ) MAX | N\ _| |
CURRENT RATING = M80-335 = 20A MAX WITH 12AWG R S — S E— —— | \b |
M80-336 = I5A MAX WITH 14AWG L T |
MB0-337 = 10A MAX WITH I6AWG ! ! |
MB0-338 = 8A MAX WITH I8AWG (12.7) — |
MB0-339 = 5A MAX WITH 20AWG | 400 TYP CONTACT ‘A" | 0.50 ' (14.0) —
M80-PM5 = 40A MAX WITH [0AWG | |
CONTACT AS SPECIFIED | |
MECHANICAL : | |
DURABILITY = 500 OPERATIONS
POWER CONTACT: | | M0 -PMS
INSERTION FORCE: x No. OF CONTACTS
M80-335/336/337/338/339 = 8N MAX
M80-PM5 = 5N MAX
WITHDRAWAL FORCE = 0.5N MIN — 7.85 MAX
ENVIRONMENTAL : 7 2 x M2x0.4 —=
TEMPERATURE RANGE : P |
M80-335/336/337/338/339 = -55°C TO +125°C i | | 9
M80-PM5 = -55°C TO +150°C .
PACKING, T . SECTION Z-2
BAG | 5.60 :
FOR COMPLETE SPECIFICATION SEE COMPONENT \ | MAX i
SPECIFICATION COO5XX (LATEST ISSUE) | | 2 x M2x0.4—\L 8 ko | ____‘I%
—— r -
0.50 MIN <~ DIM ‘B’ U U U = L
OPT IONAL : !
2.50 MAX TYP — - |
| 10.00 (14.0) ——
e A
@2.25 TYP
'<—>— 5.00 MIN
12.00 MIN
7
OPTIONAL ] ORDER CODE : (PoweR crimp/soLoer contactsif L 1 Ly 1, ol ieu
l G FONER CABLE M80-5000000MN-XX-XXX-00-000 | [Nwefss.I oare [fcivore
\ )\ R1.50 MAX TYP CRIMP/SOLDER NOTES: TOTAL No. OF CONTACTS 4—, APPROVED: MGP
RECOMMENDED PCB OR PANEL MOUNT LAYOUT | . CONNECTORS ARE SUPPLIED WITH CONTACTS LOOSE. 02 70 12 CHECKED:  SB
TOLERANCE = £0.05mm 2. FOR EXTRA POWER CONTACTS USE PART NUMBERS sggglALP(c)mA%ﬁTACT Py ——— DRAWN : R.ADDE
M80-335/336/337/338/339/PM5. : :
= POWER TACT R - CUSTOMER REF.:
DIMENS IO CALCULATION 3. POWER CONTACT EXTRACTION TOOL = 780-290. 337 © POWER CONTACT 16ANG. SOLDER Moy 37
4. RECOMMENDED HAND CRIMP TOOL FOR CONTACTS ggg : ggwgs ggnpg égAwg gngEE/gEmE Mggggg
T il - - - - = POW NTA AWG SOLDER/CRIMP M80- :
DI A £ 3 No._OF CONTACTS — 4.00  80-338/339 - 180-294 AND POSITIONER 280-295. | ¢ POHER COUTICT 2tie Solpcuicoue X
DIM ‘B’ 4 x No. OF CONTACTS + 5.00 ' '
DIM “C 4 x No. OF CONTACTS + 10.00 a OMATION SR ofSCRIFT v TX°LE_R2“|CE3 MATERTAL: TITLE: — DATAMATE MIX-TEK
| [HAN23VAVAIN | S s, SEE ABOVE PCTAIL MALE ASST Wi TH
EXAMPLE 2: CONNECTOR WITH 10 POWER CONTACTS, GROUP O MUST 01 B¢ XXX = £0.20mm BOARD MOUNT J/SCREWS
DIM ‘A’ * 36.0%;?1;?1_58?3098%l%?éé&ﬁ“%?& “C* = 50.00mm www.harwin. com OF U051 AMIACTURG, X'i::LésifilsTm FINISH: SEE_ABOVE DRAWING NOWSER: o
technical@harwin. com e pumposEwrh U | uniess stateo | s/area: 2 | M80-5000000MN- XX -XXX-00-000 | “or,




matio

DRAWING No.: M80-5000000MN-XX-XXX-00-000

Customer Infor
|

IF IN DOUBT -

ask |

n
®

SheeF

| NOT TO SCALE THIRD ANGLE PROJECTION | ALL DIMENSIONS IN mm

RECOMMENDED PCB LAYOUT FOR POWER SMT

TOLERANCE = £0.05mm

DIM ‘B
DIM A"
~ =1 4,00 TYP

S

SPECIFICATIONS:

MATERTAL:

MOULDING: GLASS FILLED PPS, UL94V-0, BLACK

POWER CONTACT: COPPER ALLOY

COAX CONTACT:
BODY = COPPER ALLOY
INNER CONTACT = COPPER ALLOY
INSULATOR = PTFE
BOARDMOUNT JACKSCREWS = STAINLESS STEEL

FINISH:

POWER CONTACT: GOLD

COAX CONTACT: BODY,

ELECTRICAL:

WORKING VOLTAGE = 800V AC/DC

VOLTAGE PROOF = 1200V AC/DC

INSULATION RESISTANCE = 100MQ) MIN

POWER CONTACT:
CONTACT RESISTANCE = 6m() MAX
CURRENT RATING:
M80-333/334/33A = 20A MAX
M80-PM3/PM4 = 40A MAX

COAX CONTACT:
FREQUENCY RANGE = 6GHz
IMPEDANCE = 5000
V.S.W.R = 1.05 + (0.04 x FREQUENCY) GHz MAX
CONTACT RESISTANCE = 6m() MAX

INSULATION RESISTANCE = IOGMf2 0250V AC
OPERATING VOLTAGE - 180V AC @ 500mA
MAXIMUM VOLTAGE = 1000V AC
MECHANICAL :
DURABILITY = 500 OPERATIONS
POWER CONTACT:
INSERTION FORCE:
M80-333/334/33A = 8N MAX
M80-PM3/PM4 = |5N MAX
WITHDRAWAL FORCE = 0.5N MIN
COAX CONTACT:
INSERTION FORCE = 8N MAX
WITHDRAWAL FORCE = 0.5N MIN
ENVIRONMENTAL :
TEMPERATURE RANGE:

I
- 4.50 =
2 x @2.25

INNER CONTACT = GOLD

SO P

\
o o

—=—{ 4.50 f<—

HORIZONTAL PC TAIL & SMT CONTACTS ONLY |

RECOMMENDED PCB LAYOUT FOR
POWER CONTACTS: M80-333/334
| TOLERANCE = £0.05mm

DIM ‘B | '

—  DIM A
<—>~74.00 TYp

@

Gi¥¢|.65 TYP

RECOMMENDED PCB LAYOUT FOR
POWER CONTACTS:
TOLERANCE = £0.05mm

|
o0 DO
—={ 4.50 |=

2 x P2.25

DIM “C”

DIM "B’

DIM "A°

DIM "B’

M80-PM3/PM4

RECOMMENDED PCB LAYOUT FOR
COAX CONTACTS: M80-313/314
TOLERANCE = £0.05mm

.00

——DIM “A’

(_)"

@@QE?@—*L@\@

@2.15 TYP

ododeg

CONTACT 'A'——/

4.00 TYP

SPECIAL CONTACTS HIDDEN FOR
7 ILLUSTRATION ONLY SEE ORDER

J | -

| DIM ‘B’ |
‘YP <IN A
TYP <—>‘ — = 2.00 TYP

9 b &6 }
2 x ¢2.2;ﬁ%¢;§i\5 TYPJ—ETJ;.SO = |

M80-313/M80-314 M80-333/MB80-334
x No. OF CONTACTS x No. OF CONTACTS

| |
7.60 MAX . | 7.60 MAX

5

— @ 1.50

S |

M80 - 33A
OF CONTACTS

—{ 7.60 MAX |=
]

NE]

x No.

~— 7 x M2x0.4

SECTION 7-1 7
5.60 !
MAX 2 x M2x0.4 ! |
F 8.60 |
MAX |
|

M80-313/314/333/334/33A = -55°C T0 +125°C
T . CODE FOR PART No. TO BE ASSEMBLED —=| 7.60 uAx '(; Hg0-PH3) PH4
ACKING: x No.
TUBE .
FOR COMPLETE SPECIFICATION SEE COMPONENT ORDER CODE: (PC TAIL CONTACTS ONLY) CONY CONTACT CONTACTS
SPECIFICATION COO5XX (LATEST ISSUE) M80-5000000MN-XX-XXX-00-000 BODY - - MeP | 3 Je0.12.19] 21540
T T naMeJiss | oate [c/noTe
TOTAL No. OF CONTACTS
DIMENSION CALCULATION 02 10 ‘I’Z INSULATOR | APPROVED:  MGP
DIM ‘A’ 4 x No. OF CONTACTS - 4.00 SPECIAL CONTACTS B2.00 CHECKED: o8
313 = COAX CONTACT 3.0mm PC TAIL M80-313 DRAWN: R.ADDE
DIM "B’ 4 x No. OF CONTACTS + 5.00 314 = COAX CONTACT 4.5mm PC TAIL M80-314 PIN
333 = 20A POWER CONTACT 3.5mm HORZ® PC TAIL MB0-333 i , CUSTOMER REF.:
DIM “C” 4 x No. OF CONTACTS + 10.0 334 = 20A POWER CONTACT 5.0mm HORZ® PC TAIL M80-334 — DIM "k
PM3 = 40A POWER CONTACT 3.5mm HORZ' PC TAIL MBO-PF3
DIM "D’ MB0-313 = 3.0mm, MB0-314 = 4. 5mm PM4 = 40A POWER CONTACT 5.0mm HORZ' PC TAIL MB0-PF4 ASSEMBLY DRG:
33A = POWER CONTACT HORZ’ SMT M80-33A
DIM "E° M80-333 = 3.5mm, M80-334 = 5.0mm
DIM 'F~ M80-PM3 = 3.5mm, M80-PM4 = 5. 0mm a romaron o oesegimnye | TOLERANCES — IMATERIAL: TITLE:  DATAMATE MIX-TEK
MATTER SET OUT HEREON ARE X. = 41
EXAMPLE 2: CONNECTOR WITH 10 POWER CONTACTS, G:ﬂA@ WDN cow oewtiaL mo corekiit |y i < 3! Somm SEE ABOVE PC TAIL MALE ASSY WITH
M80-5000000MN-10-333-00-000 aRoUs mND wuST NoT 86 | X.XX = £0.20mm BOARD MOUNT J/SCREWS
DIM ‘A’ = 36.00mm, Bm E - gSSOOmm' DIM “C’ = 50 Omm www harwin com ‘;)RlsggLﬁogsEEEl?nGL%A:NUEF%gTc}ﬁ}TNEGD. X.i::Lészl:O.ilsinm FINISH: SEE ABOVE DRAWING NUMBER: 6SHT
- . omm . . -
technical@harwin. com e pumposEwrh U | uniess stateo | s/area: 2 | M80-5000000MN-XX-XXX-00-000 | "oF




